
 

 

Answer on Question #51358 – Math – Algebra 

In purchasing food for a political rally, you erroneously order shucked medium-

size Pacific oysters (which come 8 to 12 per U.S. pint) instead of shucked medium-

size Atlantic oysters (which come 26 to 38 per U.S. pint). The filled oyster 

container shipped to you has the interior measure of 1.4 m x 17 cm x 26 cm, and a 

U.S. pint is equivalent to 0.4732 liter. By how many oysters is the order short of 

your anticipated count? Assume 10 oysters per pint for Pacific oysters and 32 

oysters per pint for Atlantic oysters 

Solution 

Volume of container:  𝑽 = 𝟏𝟒𝟎 ∗ 𝟏𝟕 ∗ 𝟐𝟔 𝒄𝒎𝟑 = 𝟔𝟏𝟖𝟖𝟎 𝒄𝒎𝟑 = 𝟔𝟏. 𝟖𝟖 𝒍. 

Pints in container:  𝒑 =
𝑽

𝟎.𝟒𝟕𝟑𝟐
=

𝟔𝟏.𝟖𝟖

𝟎.𝟒𝟕𝟑𝟐
≈ 𝟏𝟑𝟎. 𝟕𝟕. 

Atlantic oysters in container:  𝑨 = 𝒑 ∗ 𝟑𝟐 = 𝟒𝟏𝟖𝟒. 𝟔 ≈ 𝟒𝟏𝟖𝟓. 

Pacific oysters in container:    𝑷 = 𝒑 ∗ 𝟏𝟎 = 𝟏𝟑𝟎𝟕. 𝟕 ≈ 𝟏𝟑𝟎𝟖. 

Short of anticipated count:  𝑨 − 𝑷 = 𝟒𝟏𝟖𝟓 − 𝟏𝟑𝟎𝟖 = 𝟐𝟖𝟕𝟕. 

 

 

 

 

 

 

 

 

 

www.AssignmentExpert.com 


